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QUESTION 1

Scenario: An administrator manages a XenServer resource pool consisting of six XenServer hosts. A Windows XP
virtual machine runs on a shared NFS storage repository. The administrator needs to migrate the Windows XP virtual
machine to another host but CANNOT.

What must the administrator do to migrate the Windows XP virtual machine?

A. Install XenServer Tools on the virtual machine.

B. Suspend and then migrate the virtual machine.

C. Enable multipathing on the virtual machine hard drive.

D. Place the virtual machine on shared Fibre Channel or iSCSI storage repository.

Correct Answer: A

QUESTION 2

Scenario: An administrator created a single vDisk in the Provisioning Services Console that will be delivered to multiple
target devices. The operating system must save user changes to applications.

Which two options did the administrator select while preparing the vDisk? (Choose two.)
A. Private Image mode

B. Cache in Device RAM

C. Standard Image mode

D. Cache on Hard Drive Persistent

Correct Answer: CD

QUESTION 3

Scenario: An administrator is installing Provisioning services which uses PXE for starting virtual machines. DHCP is
installed and configured in the environment.

What additional component is required for the PXE environment to start a virtual machine?
A. TFTP

B. BootP

C. SOAP Service

D. Boot Device Manager

Correct Answer: A
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QUESTION 4

Scenario: After a host failure, an administrator rebuilt the host and restored the XenServer pool database. However, all
virtual machines are registered as suspended.

Which command can the administrator use to correct the situation?
A. xe vm-reboot vm=vm_name

B. xe vm-shutdown vm=vm_name

C. xe vm-unpause vm=vm_name --multiple

D. xe vm-reset-powerstate vm=vm_name -force

Correct Answer: D

QUESTION 5

Scenario: An administrator is creating a vDisk image of a physical Windows server using XenConvert. This vDisk is
going to be used by multiple target devices in Standard Image mode.

Which two steps does the administrator need to take to prepare the Windows server for physical- to-virtual conversion?
(Choose two.)

A. Disable Windows Autoplay.

B. Enable Windows Automount.

C. Put the server in Standby mode.

D. Format the hard disk drive of the server.

Correct Answer: AB

QUESTION 6

Scenario: An administrator is troubleshooting a Provisioning services environment. After the administrator configured a
new version of the vDisk for 10 identical target devices all running on the same XenServer host, the administrator
discovers that only the first target device started with the new vDisk configured. The other nine target devices failed to
startup.

What is one of the steps the administrator should take to resolve this issue?

A. Configure the PXE Service.

B. Configure the bootstrap file.

C. Restart the Stream Service.

D. Change the vDisk access mode.
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Correct Answer: D

QUESTION 7

An administrator needs to throttle traffic from the virtual print server because it has been impacting all virtual machines
on the network.

On which object should the QoS policy be configured?
A. Network

B. Global

C. Server

D. VM

Correct Answer: D

QUESTION 8

An administrator has two datacenters, each of which has its own storage that can only be accessed by hosts that are in
the same datacenter.

What could the administrator create to ensure that each host can only access its assigned storage?
A. Site

B. Store

C. Target device

D. Device collection

Correct Answer: A

QUESTION 9

An administrator needs to perform maintenance on a XenServer host that is the pool master and that has high
availability enabled.

Which two commands would the administrator have to use to prepare the XenServer host for maintenance? (Choose
two.)

A. host-disable
B. host-evacuate
C. host-shutdown-agent

D. host-management-disable

Latest 1Y0-A26 Dumps | 1Y0-A26 PDF Dumps | 1Y0-A26 VCE Dumps 417


https://www.passapply.com/1y0-a26.html
https://www.passapply.com/1y0-a26.html
https://www.passapply.com/1y0-a26.html

VCE & PDF https://www.passapply.com/1y0-a26.html
2024 Latest passapply 1Y0-A26 PDF and VCE dumps Download

PassApply.com

E. host-emergency-ha-disable

Correct Answer: AB

QUESTION 10

Scenario: The SAN Administrator provided an NFS share for the XenServer Administrator to use. The share name is
NfsLunO1 and is located at 192.168.0.53.

Which format must the administrator use to connect to the share?
A. 192.168.0.53:/NfsLun01

B.\192.168.0.53\NfsLun01

C. 192.168.0.53:3260\NfsLun01

D. http://192.168.0.53/NfsLun01

Correct Answer: A

QUESTION 11

Scenario: An administrator configured link aggregation on two switch ports that are connected to the XenServer network
interface card (NIC) bond. NO network flow is possible on the NIC bond.

How can the administrator resolve this networking issue?
A. Remove the NIC bond.

B. Change the NIC bond to active/active.

C. Configure link aggregation with failover.

D. Remove link aggregation from the switch ports.

E. Ensure that the IP address is correct on the NIC bond.

Correct Answer: D

QUESTION 12

Scenario: An administrator manages four XenServer hosts in a resource pool. To increase capacity, the administrator
purchased one new host, which is a different CPU model, but from the same manufacturer. The administrator CANNOT
add the new server to the existing pool.

What does the administrator need to use to force the host to join the existing pool?

A. Command line

B. Maintenance Mode
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C. Add to Pool Wizard
D. Add Server Wizard

Correct Answer: A

QUESTION 13

An administrator needs to create a resource pool of XenServer hosts.

Which two options are required of each host to create a homogeneous resource pool? (Choose two.)
A. Shared storage

B. Same vendor and CPU type

C. XenServer Advanced License or higher

D. Same version of XenServer and hotfixes installed

Correct Answer: BD

QUESTION 14

Scenario: An administrator is unable to connect to a resource pool in a XenServer environment in which high availability
is enabled. The administrator discovers that the host is unreachable.

What does the administrator need to do to recover the host?

A. Run the pool-disable command, then the host-shutdown command and then restart the host.

B. Run the pool-disable command, then run the pool-emergency-reset-master command and restart the host.

C. Run the emergency-ha-disable command, then once the host is restarted, run the pool-ha- enable command.

D. Run the host-evacuate command, then restart the host and run the pool-emergency- transition- to-master command.

Correct Answer: C

QUESTION 15

An administrator configured a Provisioning services environment that consists of three provisioning servers for use with
the DHCP/PXE boot process.

To configure the stream server boot list, the administrator needs to add the IP address in order to include the three
provisioning servers. (Choose the correct option to complete the sentence.)

A. of each server to the ARDBP32.BIN file

B. and the name of each server in the Imhosts file
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C. of each server in the TFTP options of the DHCP server
D. and the name of each server in the hosts file on all of the provisioning servers

Correct Answer: A
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